EARAROBEEIERT — 2 N— IBISH —F 2012458198 (£) 2EFEZIA

m#5%4ﬁ + 500AFF (B2a) [E%E] == [ewr w [mm — |2 o) oo s
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . - LEANIEEIN :32. - 4l - BAE (E#)
1 3| d—=IWKAHILZ o 55.0 1(3_2)9 s s ! fﬁg BiE
Lt/ TAA4 BiAyE—<XITLA PAEAIE
N 4 | HEBEER 1:33.1 5-5 34.2| — 3 450 | REEE (EH)
ol1]|E-LIYTL R 0o Cp | @ o-LiL-sry
%Y/ Ny THY B:VvSI—F g 5%
K 4 5 | AEEE 1:33.2 10-8 33.8| — 4 460 | BERFNME (SE3)
3/5[10| Ly FTBEX 57.0 (1/2) Cay | ) FERA-xL-32 Y
R:TFAT X4 L B:Vav/d1—F2R Sote ]
= F= = 4 4 | FBEKX 1:33.4 11-12 [33.8| — 1 444 | EETT (EH)
s T=71-777 57.0 1 1/2) o) | B HBL—xA-2
RiF =TGN BA LT AT A #BT7 -4
N N R HEHA :33. - . — K51 (@
sl1|1 | NhTalave R Ky o ° G |mime
74 FALANR BTy KRV g> RSt TN —=Z>Tt12%
S i 5 | EHEE 1:33.5 5-6 34.3| — 5 482 | RARAEE (F#)
62| *¥HAHY=X 8.0 (nF) (o) | EtE
L:xyAs47> B:xyng—)ry X O4s
; S_=e 7 it 5 | SHEMK 1:33.6 4-4 3.9 — 9 496 | MNBikZ (F#)
B4 7V TR g 57.0 (1/2) cay | WO TU-2T7—4
RHLRA Y A= B TY—T—H X HET7— L
= £ 4 | EIDWME 1:33.8 14-15  [33.9| — 2 422 | AREELT (EH)
g|8|16| 7HX T | 50 ) © | B *rvoukTr-s
RXRLTHANAN B Tr AT J—HT L
S sy R LERAH :34. - . — REHL (ER)
9 g|A>rya—ixor s 55.0 (11 314/3 11-10 ) %45 8 366) e RER
LY IINIF— B:aA>T1sFa—Ib HBE77— L4
= s # 5 | BfEiE 1:34.2 1-2 36.8| — 11 44 |BE (FER)
10jll15| 7VT7IET > 57.0 (1'1/2) wio) | (B T-F -
X THANAN B:UXTATI ML X [E]=sEae
N R 5 | EEEA 1:34.5 11-12 (349 — 15 | 468 |fREAL (i)
1117113 INMILL Y R 57.0 @) +2) =1 FE
RRZ R N=IN— §:F+7T wEit ik
AT # 5 | ALREE 1:34.6 16-16 | 34.5| — 6 508 | NI (35H)
125/ 9| ®%/>7>F3 67.0 (172) o) | S5
A:Unbridled’s Song &:7>F 3 BRTF7— LI
° B4 | BEET 1:34.8 7-6 355 — 14 | 462 |KFEEL (E#)
13 6| 7NYUT 5.0 (1'1/2) (1) | 1EMETS
R:gALINT Ry IR BiAT DT E{=Le
P =, . 4 5 | HHlEE 1:34.9 15-14  [35.1| — 13 | 434 | KTIEE (%)
141714 2RAMIVT 74X 55.0 (7E) (+22) B B IE R
AR TA M2 XI) B XA TR B T MBS
> s 4 4 | IHRS 1:35.3 7-10 35.8| — 12 442 | FAEEMME (EH)
15/8|17| @ F v ¥ A7 > 57.0 21/2) o) | EWER
R:T7RTAYT vy BALZyYLRTIT AKX B
=i 5 | t&ILET 1:35.6 7-8 3.2 — 17 | 522 |EEHFX (K#)
16l8l18| @ v=F 7 [B] ) & ) | ) B
:RYILN—FK B:LARLZ =145
N . LTS .38 _ . — SEHHL (EH)
17 7 Yy h LS w— > 5 | LTS (193{85) 17-17 | 37.9 16 (1_122) %E#ﬁ
L7722 T754~ B:vviO EaKk #HiE
o o e FE = = = = = ERE (EH)
sl 5| Fr—U—R1 b SES (Ba5h) (4_7‘;4) AR
RHLRA Y E— B R—N—UTYT Gl e
@ 21 L
£y 47.3-35.5
Nna>a24 L | 12.6-10.7-11.0-11.3-11.8-11.6-11.9-12.0
® I—F—&EBIERL
13—7-
23—7F—
G=7"= (1,%15)=3-4(2,12) (6,17,18)10(8,11,13)-16,14-9-7 5
Mal=5r= (x1,15)=3,4,2(6,12) (10,18) (8,17) (11,13)14,16,9=7 5
[ N5
B R 3 1,520 | | 71 K 2-3 1,170M | | # = 1-2 1,510 | | 3&4& 2-3-10 5,430M
# B 3 400M 3-10 1,270H B E 2-3 2,970M EE 3-2-10 42,280
2 190M4 2-10 560M B H 3-2 5,720
10 220M

ABICOVWTRDTEEERROODE. TR LIV,



